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GĤk̂IPGF$

 C$=BKBUYC$OD>>D$
<cD=CWB<LB$
UY=C<=OBLC=BD$

ke=<V<LaD=DLVD$ IPGF$

R\$#=YBV<><$ #VD$LD>>C$ D__D$OB$mB>CLVB<$IPGF$ NeBOC$C>>C$"<LYCXB>BYl$
i$mB>CLVB<$

T>$S<>D$IH$)=D$ IPGF$

RI$#=YBV<><$ S<VBDYl$V<EED=VBC>D$BL$U<VBDYl$
UDEc>BVD$

NeBOC$C>>C$"<LYCXB>BYl$
i$mB>CLVB<$

T>$S<>D$IH$)=D$ IPGF$

RG$#=YBV<><$  D$aeUB<LB$OB$U<VBDYl$LD_>B$Ta=UM$T$
=DVDLYB$<=BDLYCEDLYB$OB$#UUB=DKB$
CYY=CKD=U<$>h)cB$I$

 C$=BKBUYC$OD>>D$
<cD=CWB<LB$
UY=C<=OBLC=BD$

ke=<V<LaD=DLVD$ IPGF$

RP$#=YBV<><$ Z<KBYl$UeB$XB>CLVB$OD>>D$V<<cD=CYBKD$ ke=<V<LaD=DLVD$ZDgU$ke=<V<LaD=DLVD$ IPGF$

H]$#=YBV<><$ 'DKBU<=B$D$CEEBLBUY=CY<=Bj$DUc<==D$B>$
Le<K<$XB>CLVB<$BL$CUUDEX>DC$

ke=<V<LaD=DLVD$ZDgU$ke=<V<LaD=DLVD$ IPGF$

HQ$#=YBV<><$ "<>>D_B<$UBLOCVC>Dj$KD=BaBVC$UBYeCWB<LD$
cCY=BE<LBC>DJaBLCLWBC=BC$DO$
DV<L<EBVC$

ke=<V<LaD=DLVD$ZDgU$ke=<V<LaD=DLVD$ IPGF$

HF$#=YBV<><$ "<>>D_B<$UBLOCVC>D$D$V<LY=<>>B$Ue$
CUUDYY<$<=_CLBWWCYBK<$f$cC=YD$Au$

ke=<V<LaD=DLVD$ZDgU$ke=<V<LaD=DLVD$ IPGF$



 !"#$%# $&'#()$
*+,,+-.$/+00.-/12314,2$5$6.714+-.$3.823.$9.1$/+:,1$

$
;<=>?@$ABC>D$'<EC$FG@$HFGIG$J$'CKDLLC@$ABC$'M$NC=OBLB$IP@$HQGIG$

"M;M$% & "!QG%IG%HRQS$J$TUV=BWB<LD$#>X<$O<YY<=B$V<EED=VBC>BUYB$ZM$[H\#$OD>$G]̂P]̂IPGG$
TUV=BWB<LD$'D_BUY=<$'DKBU<=B$ D_C>B$LM$G[[GGR$%M̀M$GQ̂PR̂IPGI$NCWWDYYC$!aaBVBC>D$LM$HH$OD>$PQ̂P[̂IPGI$

(D>M$PRHHM\F\\P$J$;Cb$PRHHMIHIPPP$J$"D>>M$\\\QRQR[GP$J$OC>c=CY<dUYeOB<V<LUe>DLWCM=CMBY$J$>eVCMOC>Mc=CY<dcDVMBY$f$gggMUYeOB<V<LUe>DLWCM=CMBY$

H[$#=YBV<><$ "<>>D_B<$UBLOCVC>D$f$V<LY=<>>B$BL$
ECYD=BC$OB$UBVe=DWWC@$CEXBDLYD$D$
c=BKCVh$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGF$

HR$#=YBV<><$ #eEDLYB$_=CYeBYB$OD>$VCcBYC>D$U<VBC>Dj$
c<UUBXB>D$CYY=BXeB=D$ke<YD$OB$
BLV=DEDLY<$OBKD=UD$OC$keD>>D$OB$
cC=YDVBcCWB<LD$

NeBOC$C>>C$"<LYCXB>BYl$
m$nB>CLVB<$

T>$S<>D$IH$)=D$ IPG[$

HH$#=YBV<><$ S<VBDYl$XDLDaBY$ NeBOC$C>>C$"<LYCXB>BYl$
m$nB>CLVB<$

T>$S<>D$IH$)=D$ IPG[$

H\$#=YBV<><$  D$C__=D_CWB<LB$OB$BEc=DUD$U<YY<$
V<LY=<>><$V<EeLDM$T$=DVDLYB$
<=BDLYCEDLYB$OB$#UUB=DKBj$)&T$G$

 C$=BKBUYC$OD>>D$
<cD=CWB<LB$
UY=C<=OBLC=BD$

ie=<V<LaD=DLVD$ IPG[$

HI$#=YBV<><$ "<>>D_B<$UBLOCVC>D$D$KC>eYCWB<LD$OD>$
=BUVoB<$OD>>C$U<VBDYl$f$cC=YD$TTT$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPG[$

HG$#=YBV<><$ AC>eYCWB<LD$OD>>C$OBcDLODLWC$
aBLCLWBC=BC$OD>$UBLOCV<$f$cC=YD$TTp$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPG[$

HP$#=YBV<><$  qBLUDOBCEDLY<$OD>$V<>>D_B<$UBLOCVC>D$
f$cC=YD$Tp$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPG[$

\]$#=YBV<><$ T>$XeUBLDUU$c>CL$f$YD=WC$cC=YD$ ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPG[$

\Q$#=YBV<><$ T>$XeUBLDUU$c>CL$f$UDV<LOC$cC=YD$ ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPG[$

\F$#=YBV<><$ T>$XeUBLDUU$c>CL$f$c=BEC$cC=YD$ ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPG[$

\[$#=YBV<><$ T>$V<LY=<>><$OB$>D_C>BYl$OD>$V<>>D_B<$
UBLOCVC>D$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

\R$#=YBV<><$ SBLOCVB$D$V<LY=<>><$OB$_DUYB<LD$ ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

\H$#=YBV<><$ "<>>D_B<$UBLOCVC>D$D$V<LY=<>><$OB$
_DUYB<LD$C$Uecc<=Y<$OD>$XeO_DY$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

\\$#=YBV<><$ SBLOCVB$D$"<LY=<>><$OB$_DUYB<LD$
BLYD=L<$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

\I$#=YBV<><$ &=<KC$=B_<=<UC$OD>>C$V=BUB$OB$>BkeBOBYl$
cD=$>q<EDUU<$KD=UCEDLY<$TKC$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

\G$#=YBV<><$ SBLOCVB$D$V<LY=<>><$OB$_DUYB<LD$
BLYD=L<$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

\P$#=YBV<><$ Z<L$r$CXeU<$OD>$OB=BYY<$=DC>BWWC=D$
BLBWBCYBKD$DV<L<EBVoD$BL$C=DD$
BLVDLYBKCYD$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

I]$#=YBV<><$  C$YCXD>>C$s#n"t$OD>$&CY=BE<LB<$
LDYY<$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

IQ$#=YBV<><$  C$>DYYD=C$OB$CYYDUYCWB<LD$=B>CUVBCYC$C>$
=DKBU<=D$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

IF$#=YBV<><$  qBLKDLYC=B<$aC>>BEDLYC=D$ ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

I[$#=YBV<><$  qCaaBYY<$OqCWBDLOC$LD>$aC>>BEDLY<$ ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

IR$#=YBV<><$ #cc=<VVB<$C>$=BUVoB<$OB$=DKBUB<LD$D$
UB_LBaBVCYBKBYl$$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGR$

IH$#=YBV<><$  BLDC$Oe=C$OD>>C$VCUUCWB<LD$Ue>>C$
ODOeVBXB>BYl$ODB$V<EcDLUB$C_>B$
CEEBLBUY=CY<=B$

NeBOC$C>>C$"<LYCXB>BYl$
m$nB>CLVB<$

T>$S<>D$IH$)=D$ IPGH$

I\$#=YBV<><$ NBl$OC>$IPGH$=BOeWB<LD$OD>>D$C>Bke<YD$
T'#&$

NeBOC$C>>C$"<LYCXB>BYl$
m$nB>CLVB<$

T>$S<>D$IH$)=D$ IPGH$

II$#=YBV<><$ "D=YDWWC$D$BLD=DLWC$LD>>C$ODOeVBXB>BYl$
ODB$V<EcDLUB$OD_>B$CEEBLBUY=CY<=Bj$
e>YBED$c=<LeLVD$

NeBOC$C>>C$"<LYCXB>BYl$
m$nB>CLVB<$

T>$S<>D$IH$)=D$ IPGH$

IG$#=YBV<><$ )cc<UBWB<LD$C>$c=<_DYY<$OB$UYCY<$
cCUUBK<$$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGH$

IP$#=YBV<><$ 'DKBUB<LD$>D_C>Dj$BLOBcDLODLWC@$
L<EBLC$D$=DK<VCJ$cC=YD$G$$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGH$

G]$#=YBV<><$ <̀OC>BYl$OB$aBLCLWBCEDLY<$OD>>D$
BEc=DUD$D$=e<><$OD>$c=<aDUUB<LBUYC$f$
e>YBEC$cC=YD$$

ie=<V<LaD=DLVD$ZDgU$ie=<V<LaD=DLVD$ IPGH$



 !"#$%# $&'#()$
*+,,+-.$/+00.-/12314,2$5$6.714+-.$3.823.$9.1$/+:,1$

$
;<=>?@$ABC>D$'<EC$FG@$HFGIG$J$'CKDLLC@$ABC$'M$NC=OBLB$IP@$HQGIG$

"M;M$% & "!QG%IG%HRQS$J$TUV=BWB<LD$#>X<$O<YY<=B$V<EED=VBC>BUYB$ZM$[H\#$OD>$G]̂P]̂IPGG$
TUV=BWB<LD$'D_BUY=<$'DKBU<=B$ D_C>B$LM$G[[GGR$%M̀M$GQ̂PR̂IPGI$NCWWDYYC$!aaBVBC>D$LM$HH$OD>$PQ̂P[̂IPGI$

(D>M$PRHHM\F\\P$J$;Cb$PRHHMIHIPPP$J$"D>>M$\\\QRQR[GP$J$OC>c=CY<dUYeOB<V<LUe>DLWCM=CMBY$J$>eVCMOC>Mc=CY<dcDVMBY$f$gggMUYeOB<V<LUe>DLWCM=CMBY$

GQ$#=YBV<><$ <̀OC>BYh$OB$aBLCLWBCEDLY<$OD>>D$
BEc=DUD$D$=e<><$OD>$c=<aDUUB<LBUYC$f$
ieC=YC$cC=YD$$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

GF$#=YBV<><$ ;BLCLWBCEDLY<$C>>D$BEc=DUD$D$=e<><$
OD>$c=<aDUUB<LBUYC$J$YD=WC$cC=YD$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

G[$#=YBV<><$ ;BLCLWBCEDLY<$C>>D$BEc=DUD$D$=e<><$
OD>$c=<aDUUB<LBUYC$$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

GR$#=YBV<><$ <̀OC>BYh$OB$aBLCLWBCEDLY<$OD>>D$
BEc=DUD$D$=e<><$OD>$c=<aDUUB<LBUYC$$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

GH$#=YBV<><$ T>$ECLVCY<$V<LY=COOBYY<=B<$>D_BYYBEC$B$
cC=CEDY=B$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

G\$#=YBV<><$  BieBOCWB<LDk$CUcDYYB$OBVlBC=CYBKB$ je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

GI$#=YBV<><$ "<LY=<>>B$Db$C=YM$\[JYD=k$<XX>B_CY<=B<$
E<YBKC=D$>D$=DYYBaBVlD$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

GG$#=YBV<><$ &D=$>C$"CUUCWB<LD$UDLWC$
V<LY=COOBYY<=B<$m$Le>><$
>nCVVD=YCEDLY<$OC$UYeOB$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

GP$#=YBV<><$ ;C>>BEDLY<$L<L$DUYDU<$C_>B$Db$U<VB$OB$
SLV$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

]$#=YBV<><$ ;C>>BEDLY<$L<L$DUYDU<$C_>B$Db$U<VB$OB$
SLV$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

Q$#=YBV<><$ "CUUCWB<LDk$TKC$OB$_=ecc<$L<L$
V<EcDLUCXB>D$UDLWC$_C=CLWBC$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

F$#=YBV<><$ Ze<K<$)T"GR$f$(=CYYCEDLY<$
V<LYCXB>D$ODB$V=DOBYB$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

[$#=YBV<><$ %DV=DY<$V<EcDYBYBKBYh$f$L<KBYh$BL$
ECYD=BC$OB$VCcBYC>D$U<VBC>D$D$V<>>D_B<$
UBLOCVC>D$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

R$#=YBV<><$ #VVDYYCWB<LD$OD>>nBLVC=BV<$OB$UBLOCV<$
OB$U<VBDYh$BL$V=BUB$f$KC>eYCWB<LB$
c=D>BEBLC=B$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

H$#=YBV<><$ "<LY<$DV<L<EBV<$f$O<VeEDLY<$
BLYD=c=DYCYBK<$G$OD>$&"$GI$D$X<WWC$
OD>>n)BV$GI$oTTC$cC=YDp$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

\$#=YBV<><$ "<LY<$DV<L<EBV<$f$O<VeEDLY<$
BLYD=c=DYCYBK<$G$OD>$&"$GI$D$X<WWC$
OD>>n)BV$GI$oTC$cC=YDp$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

I$#=YBV<><$ !LBV<$U<VBDYh$OB$VCcBYC>B$f$Z<KBYh$OD>$
E<OD>><$IPGH$

je=<V<LaD=DLVD$ZDgU$je=<V<LaD=DLVD$ IPGH$

G$#=YBV<><$ (=CYYCEDLY<$aBUVC>D$OD>>qBLODLLBYh$cD=$
>C$cD=OBYC$OD>>qCKKBCEDLY<$
V<EED=VBC>D$OD>>qBEE<XB>D$><VCY<$

NeBOC$C>>C$"<LYCXB>BYh$
r$sB>CLVB<$

T>$S<>D$IH$)=D$ IPG\$

$
t$u$v$w$u$
$

x$yz{|}~��z$ ���z�z$ $ ���~$ ���z$

GG$ BX=<$ C̀LeC>D$OD>>nDUcD=Y<$V<LYCXB>D$ $ T>$S<>D$IH$)=D$ IPG]$

GP$ BX=<$  D$OBVlBC=CWB<LB$BLYD_=CYBKD$C$aCK<=D$ $ C̀__B<>B$ IPGQ$

]$ BX=<$ TLOeUY=BC$HMP$ $ T>$S<>D$IH$)=D$ IPGQ$

Q$ BX=<$  D$OBVlBC=CWB<LB$BLYD_=CYBKD$C$aCK<=D$ $ C̀__B<>B$ IPGF$

F$ BX=<$ SYeOB$OB$UDYY<=D$IPGF$J$NeBOC$
<cD=CYBKC$

$ je=<V<LaD=DLVD$ IPGF$

[$ BX=<$  D__D$OB$SYCXB>BYh$IPG[$ $ T>$S<>D$IH$)=D$ IPG[$

R$ BX=<$ SYeOB$OB$UDYY<=D$IPG[$J$NeBOC$
<cD=CYBKC$

$ je=<V<LaD=DLVD$ IPG[$

H$ BX=<$ 'Ba<=EC$OD>$V<LYDLWB<U<$Y=BXeYC=B<$D$
Le<K<$BLYD=cD>><$

$ C̀__B<>B$ IPGR$

\$ BX=<$ #eY<$CWBDLOC>B$D$aBUV<$ $ TcU<C$ IPGR$



 !"#$%# $&'#()$
*+,,+-.$/+00.-/12314,2$5$6.714+-.$3.823.$9.1$/+:,1$

$
;<=>?@$ABC>D$'<EC$FG@$HFGIG$J$'CKDLLC@$ABC$'M$NC=OBLB$IP@$HQGIG$

"M;M$% & "!QG%IG%HRQS$J$TUV=BWB<LD$#>X<$O<YY<=B$V<EED=VBC>BUYB$ZM$[H\#$OD>$G]̂P]̂IPGG$
TUV=BWB<LD$'D_BUY=<$'DKBU<=B$ D_C>B$LM$G[[GGR$%M̀M$GQ̂PR̂IPGI$NCWWDYYC$!aaBVBC>D$LM$HH$OD>$PQ̂P[̂IPGI$

(D>M$PRHHM\F\\P$J$;Cb$PRHHMIHIPPP$J$"D>>M$\\\QRQR[GP$J$OC>c=CY<dUYeOB<V<LUe>DLWCM=CMBY$J$>eVCMOC>Mc=CY<dcDVMBY$f$gggMUYeOB<V<LUe>DLWCM=CMBY$

I$ BX=<$ SYeOB$OB$UDYY<=D$IPGR$J$NeBOC$
<cD=CYBKC$

$ he=<V<LaD=DLVD$ IPGR$

G$ BX=<$ SYeOB$OB$UDYY<=D$IPGH$J$NeBOC$
<cD=CYBKC$

$ he=<V<LaD=DLVD$ IPGH$

$
i$j$k$j$l$m$n$o$p$q$

$
r$stuvwxyzt$ {|zt}t$ q~xyzt$ qyzx$ nyyt$
GI$̀ <L<_=CaBC$  C$V�BeUe=C$OD>$XB>CLVB<$O�DUD=VBWB<$

IPG\$D$>�BEcCYY<$Ue>$=DOOBY<$O�BEc=DUC$
C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

GG$̀ <L<_=CaBC$ T>$V<>>D_B<$UBLOCVC>D$D$B>$=DKBU<=D$
>D_C>D$

C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

GP$̀ <L<_=CaBC$ T>$V<LYDLWB<U<$Y=BXeYC=B<$D$_>B$BUYBYeYB$
ODa>CYBKB$

C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

]$ <̀L<_=CaBC$  C$_DUYB<LD$OD>>C$V=BUB$O�BEc=DUC$ C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

Q$ <̀L<_=CaBC$ ;BUVC>BY�$OB$_=ecc<$D$BLYD=LCWB<LC>D$ C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

F$ <̀L<_=CaBC$  C$OBV�BC=CWB<LD$T=Cc$D$>D$c=BLVBcC>B$
ODOeWB<LB$

C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

[$ <̀L<_=CaBC$ TKC�$OBV�BC=CWB<LD$CLLeC>D@$L<KBY�$D$
<cD=CWB<LB$V<L$>�DUYD=<$$

C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

R$ <̀L<_=CaBC$  D$L<KBY�$aBUVC>B$ C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

H$ <̀L<_=CaBC$ T>$E<OD>><$!LBV<$IPGH$ C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

\$ <̀L<_=CaBC$ (=eUY$D$cCYYB$OB$aCEB_>BC$ C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPGH$

I$ <̀L<_=CaBC$  �CVVD=YCEDLY<$cD=$>D$cD=U<LD$aBUBV�D$ C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPG\$

G$ <̀L<_=CaBC$  �CVVD=YCEDLY<$cD=$BEc=DUD$D$
c=<aDUUB<LBUYB$

C̀UYD=$Z<=ED$�$
(=BXeYB$

T>$S<>D$IH$)=D$ IPG\$

$

n$�$�$q$l$n${$j$$$�$
$

{$q$�$p$$$�$q$l$�$p${$q$

p$k$$$�$�$n$�$p${$�$$$s$p$s$j$�$q$k${$q�$$$�$j$m$m$q$�$n${$j$m$q$$$j$$$�$j$k${$m$j$m$q$�$n${$j$m$q$

r$
�t��t$�|$
��v�x�$

{|zt}t${x�|$ mvt}t$ nyyt$

GP$(DUB$OB$>Ce=DC$ )T"$\\$f$&CUUC__B<$CB$c=BLVBcB$V<LYCXB>B$LCWB<LC>B$ 'D>CY<=D$ IPIP̂IPIG$

]$(DUB$OB$>Ce=DC$  �DK<>eWB<LD$OD>$=D�eBUBY<$OD>>C$V<LYBLeBY�$ 'D>CY<=D$ IPIP̂IPIG$

Q$(DUB$OB$>Ce=DC$
 D$L<=ED$OB$V<Ec<=YCEDLY<$OD>$V<>>D_B<$UBLOCVC>D$OB$U<VBDY�$
L<L$�e<YCYD�$V<La=<LY<$Y=C$>D$L<=ED$OD>$IPGR$D$>D$L<=ED$OD>$
IPIP$

'D>CY<=D$ IPIP̂IPIG$

F$
(DUB$OB$>Ce=DC$
EC_BUY=C>D$

 D$XCLV�D$Y=C$UaBOD$YDVL<><_BV�D$D$=BUV�B$BLa<=ECYBVB$ "<LY=<=D>CY<=D$IPIP̂IPIG$

[$
(DUB$OB$>Ce=DC$
EC_BUY=C>D$

AC>eYCWB<LD$OD>$=CE<$O�CWBDLOC$LD>>�CEXBY<$OD>>C$c=<VDOe=C$OB$
>B�eBOCWB<LD$V<CYYC$CEEBLBUY=CYBKC�$$$
B>$VCU<$c=CYBV<$OD>>C$S<VBDY�$"<<cD=CYBKC$�$BL$>B�eBOCWB<LDM$

"<==D>CY<=D$ IPG]̂IPIP$

R$
(DUB$OB$>Ce=DC$
EC_BUY=C>D$

AC>eYCWB<LD$OD>>D$CWBDLOD�$B>$VCU<$OD>>D$S<VBDY�$OB$TLKDUYBEDLY<$
TEE<XB>BC=D$�e<YCYD$

"<==D>CY<=D$ IPG]̂IPIP$

H$
(DUB$OB$>Ce=DC$
EC_BUY=C>D$

 �BEcCYY<$OD>$")AT%JG]$Ue>>C$KC>eYCWB<LD$O�CWBDLOC$OD>>D$
c=BLVBcC>B$V<EcC_LBD$CD=DD$

"<==D>CY<=D$ IPG]̂IPIP$

\$
(DUB$OB$>Ce=DC$
EC_BUY=C>D$

T>$cD=V<=U<$OB$h>DYY=<LUDC$S<VBDY�$"<<cD=CYBKC$;CYY<=B$V�BCKD$OB$
UKB>ecc<$D$KC>eYCWB<LD$OD>>D$cD=a<=ECLVD$V<EcC=CYC$V<L$B$$
c=BLVBcC>B$V<EcDYBY<=$

"<==D>CY<=D$ IPG]̂IPIP$

I$
(DUB$OB$>Ce=DC$
EC_BUY=C>D$

T$c=BLVBcB$OB$KC>eYCWB<LD$BYC>BCLB$D$UcC_L<>B$C$V<La=<LY<�$
UBEB>BYeOBLB$D$OBaaD=DLWD$LD>>D$KC>eYCWB<LB$BEE<XB>BC=B$

"<==D>CY<=D$ IPG]̂IPIP$



 !"#$%# $&'#()$
*+,,+-.$/+00.-/12314,2$5$6.714+-.$3.823.$9.1$/+:,1$

$
;<=>?@$ABC>D$'<EC$FG@$HFGIG$J$'CKDLLC@$ABC$'M$NC=OBLB$IP@$HQGIG$

"M;M$% & "!QG%IG%HRQS$J$TUV=BWB<LD$#>X<$O<YY<=B$V<EED=VBC>BUYB$ZM$[H\#$OD>$G]̂P]̂IPGG$
TUV=BWB<LD$'D_BUY=<$'DKBU<=B$ D_C>B$LM$G[[GGR$%M̀M$GQ̂PR̂IPGI$NCWWDYYC$!aaBVBC>D$LM$HH$OD>$PQ̂P[̂IPGI$

(D>M$PRHHM\F\\P$J$;Cb$PRHHMIHIPPP$J$"D>>M$\\\QRQR[GP$J$OC>c=CY<dUYeOB<V<LUe>DLWCM=CMBY$J$>eVCMOC>Mc=CY<dcDVMBY$f$gggMUYeOB<V<LUe>DLWCM=CMBY$

G$
(DUB$OB$>Ce=DC$
EC_BUY=C>D$

 C$AC>eYCWB<LD$OD>>D$S<VBDYh$OB$"C>VB<@$̀DY<OB$">CUUBVB$D$̀DY<OB$
#>YD=LCYBKB$

"<==D>CY<=D$ IPG]̂IPIP$

$


